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XYz XY*lOZQ(pF) 5%, KE10%, ME20% 1%= 10000ppm o 0001%—1ppm
,101(1 10
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XYz XY*lOZQ(pF) 5%, KE10%, ME20% 1%= 10000ppm o 0001%—1ppm
F),101(1 1000 F),104
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XYz= XY*lOZQ(pF) 5%, K106,  M=20% 1%—10000ppm 0.0001%= 1ppm
,101 P,
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XYz XY*lOZQ(pF) JE5%, K=10%, M=2=20% 1%=10000ppm,0. 0001%—lppm
,101(1 102(1000pF=0.001uF) , 103(10000pF=0. 01uF) , 104(0
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XYz XY*lOZQ(pF) J=5%,  K==10%,  M==20% 1%—10000ppm 0. 0001%—1ppm
,101 .1
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XYz XY*lOZQ(pF) J=5%,  K==10%, M==20%  1%=10000ppm,0. 0001%—1ppm
F),101(1 1000pF=0.001uF) , 103(10000pF=0.01UF), 1
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XYz XY*lOZQ(pF) J=5%,  K==10%, M==20%  1%=10000ppm,0. 0001%—1ppm
F),101(1 1000pF=0.001uF) , 103(10000pF=0.01UF) , 104
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